1)
The following table presents the details about the percentage (%) distribution of teachers

and the number of male teachers In six different cities (A—F). There 1s a total of

4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5;

City-wise Distribution of Teachers

City + | Percentage of (%) Number of Male
Tentheis Teachers
A 14% 200
B 16% 400
C 28% G600
D 15% 100
E 21% 500
F 06% 100

Tsferfian s O 28 fafy= 50 (A — F) d e &1 gfaem fEarvr ag gea fes 6 d@en # =60 fqa
A 21 |l @ el 4 Fel 4500 et 2| avfern O fau e sEsi & S W 91— 5 & 3 i

e =1 sE—an faam

vier L | ferrl 0 ufds@ (%) | gFw FrerRl i e
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

What 1s the total number of male teachers in City-F, female teachers in Citv-C and female
teachers in City-B together?

(I 1080 (2)
(3) 1180 4

1120
1020

w@-F 0 g e, s@i-C O ufeen fMaw @@ smi-B ° ofeen e A den |1 F@ am
N RY

(1) 1080 (2)
(3) 1180 (4)

1120
1020

[Question ID = 1001][Question Description = 101_00_General_19_0CT22_Q01]
1. 1 [Option ID = 4001]
2. 2 [Option ID = 4002]
3. 3 [Option ID = 4003]



4. 4 [Option ID = 4004]

2)
The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There 1s a total of

4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5:

City-wise Distribution of Teachers

City v+ | Percentage of (%) Number of Male
Teantheis Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
P 06% 100

fesferfiaa mfcrn O 28 fafy= 9= (A — F) d e &1 afaem v au gea fres 6 d@en # =00 T
P 2 |l e w1E 4 el 4500 fers &) avfere O fau e siEsi & S W 91— 5 & 39 it

e =1 TE—an aa

vier b | ferrl 0 ufds@ (%) | gEw el i e
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

The number of female teachers in City-D i1s approximately what percent of the total numher
of teachers 1n City-A?

(1) 75 (2) 81
(3) a5 i4) 91

si#-D 4w el $ den e -AH e 6 ga deEn a1 arm e afiem 27

(1) 75 (2) 81
(3) 95 (4 91
[Question ID = 1002][Question Description = 102_00_General_19_0CT22_Q02]

1. 1 [Option ID = 4005]
2. 2 [Option ID = 4006]



3. 3 [Option ID = 4007]
4. 4 [Option ID = 4008]

3)
The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There 1s a total of

4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5;

City-wise Distribution of Teachers

City + | Percentage of (%) Number of Male
Tamcheprs Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

Teferfiaa aifer 8 % fafa= sma (A - F) | fa 1 afasw e aen 9 e 6 @en & =6 @
21 mdi e w1eti 1 Fel 4500 fers F) anfer 4 fo o siEl & s U 1 — 5 % 39 i)

Toers! = s—an =

s 4 | Tessl o widem (%) | gEe el S EEn
A 14% 200
B 16% 400
# 28% 600
D 15% 100
E 21% 500
F 06% 100

In which city is the number of male teachers more than the number of female teachers?

(1) B only (2)
(3) Both Band E (4)

D only
Both Eand F
farm e | o Tonareni o) wen 7an o ufeen el 41 wen 8 i 27
(1) =B (2) FawD
(3 BIWE=ZHEH (4 E3RFIEH

[Question ID = 1003][Question Description = 103_00_General_19_0CT22_Q03]
1. 1 [Option ID = 4009]



2. 2 [Option ID = 4010]
3. 3 [Option ID = 4011]
4. 4 [Option ID = 4012]

4)
The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There i3 a total of
4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5:

City-wise Distribution of Teachers

City + | Percentageof (%) | Number of Male
Testhers Teachers
A 14% 200
B 16% 400
C 98% 600
D 15% 100
E 21% 500
F 06% 100

T=ferfian mfcrn O e fafy= 3= (A — F) 9 e &1 afaem fEavr au gen fres 6 d@en #1600 @
21|l e w1edi 1 Fel 4500 e &) Ao o fou e s & sran | s 1— 5 % 3 difs

Torel =1 IE—an aam

vier b | ferrl o ufds@ (%) | gEw el SR s
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

What is the difference between the total number of teachers in City-E and the number of
female teachers in City-F?

(1) 625 (2 775
(3) 675 4 725
e~ # forersl 1 g e aw vwe-F 3 ufeen foere 401 s @ o a2 27

(1) 625 (2) 775
(3) 675 (4) 725



[Question ID = 1004][Question Description = 104_00_General_19_0CT22_Q04]
1. 1 [Option ID = 4013]
2. 2 [Option ID = 4014]
3. 3 [Option ID = 4015]
4. 4 [Option ID = 4016]

3)

The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There 1s a total of
4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5;

City-wise Distribution of Teachers

City + | Percentage of (%) Number of Male
Tamcheprs Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

Teferfiaa aifer 8 % fafa= sma (A - F) | fa 1 afasw e aen 9 e 6 @en & =6 @
21 |l e 1edl 1 Fe 4500 faers § ) anfer 4 fou o siE & s a1 — 5 % 3 i

Toers! = s—an =

What is the ratio of the number of male teachers in City-C to the number of female teachers
in City-B?

(1)
{3)

s 4 | Tessl o widem (%) | gEe el S EEn
A 14% 200
B 16% 400
# 28% 600
D 15% 100
E 21% 500
F 06% 100

(2)

15:11

(4) §:15




I~ C H 75 a7k =1 e au wre-B 4 gl Gasel ) e st w1 2 e

(1) 11:16 (2) 16+11

(3) 15:8 (4) §:15
[Question ID = 1005][Question Description = 105_00_General_19_0CT22_Q05]
1. 1 [Option ID = 4017]
2. 2 [Option ID = 4018]

3. 3 [Option ID = 4019]
4. 4 [Option ID = 4020]

Topic:- 11_GP_SH1_Set1_B

" Which one of the following is the national repository of high guality resources on

foundational Iiteracy and numeracy?

(1)  Digital Infrastructure for Enowledge Sharing (DIKSHA)

(2) National Institute of Open Schooling (NIOS)

(3) National Repository on Open Educational Resources (NROER)
(4 National Professional Standards for Teachers (NPST)

freaferfian # 4 oim samga ap a9 ARy dad 3= e Jaad @ g dEe 27
(1)  Tafoee = aven saEe ()

(2) T g e HEUE (VA ST S )

(3) A g S R ISR (0 AR S )

4y e giaE e qeEe (v diva A)

[Question ID = 1006][Question Description = 106_00_General_19_0CT22_Q06]
1. 1 [Option ID = 4021]
2. 2 [Option ID = 4022]
3. 3 [Option ID = 4023]
4. 4 [Option ID = 4024]

2) {Inder which initiative every student in the country will participate in a fun project/activity
on 'The Languages of India’. sometime in Grades 6-87

@8] Make in India (2) Digital India
(3 Padhe Bharat Badhe Bharat 4) EK Bharat Shrestha Bharat

FefenEd 1§ 0 FEEa § 59 ° 0 Eemdl e 6 — 8 U2 ° Ea 9 Sesm e sisa
T T FiTE A FEFT B AT T

(1) 9% = 2y fefaea dfem

(3) "% WA #2 WA (4)  UH U A qEA

[Question ID = 1007][Question Description = 107_00_General_19_0CT22_Q07]
1. 1 [Option ID = 4025]
2. 2 [Option ID = 4026]
3. 3 [Option ID = 4027]
4. 4 [Option ID = 4028]



3)  Given below are twao statements:

Statement I: It is not desirable to have all the interest areas around the outside of the

classroom, leaving a large deadspace in the middle.

Statement IT: It is not desirable to put bookshelves next to the reading area and games
equipments by the game table.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both Btatement I and Statement I are correct
(2) Both Statement I and Statement 1T are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement I1 is correct

A g1 e faqu o 2

FH L . R R F Ue B =T AT A9 BISE 35 T-U B WE H Etw b =] & F e
wdE TF 7

FRIl: S F TO0F B R TF WA9E A Fs 29 T e # I0E w e g
T 2

TUITH A 5 e, 14 fen o Faeredi 1 3 w39 IR =59A Fif

(1)  F93Isin DaAEEd )
(2) A 130 I F]Terd 2
(3) WA 19 2, offa ded 10T 2
(4) e[ LA 2, diFd F9F [LEE 3)

[Question ID = 1008][Question Description = 108_00_General_19_0CT22_Q08]
1. 1 [Option ID = 4029]
2. 2 [Option ID = 4030]
3. 3 [Option ID = 4031]
4. 4 [Option ID = 4032]



4)

(A)
(B)
(©
(D)

Match List T with Last IT :

List T List 1

Learning Management System (I) Blender

Web Conferencing System (II) Sakai
Animation Maker System (IIT) SPSS

Data Processing System (TV) Microsoft Teams

Choose the correct answer from the options given below:

(1)

(2)
(3)
(4)

(A) —(II).
(A) —(IV).
(A) - (@.
(A) —(III),

B) — avy,
B) — (D.

(B) — (II),
(B) — (ID),

A1 1% 7y A= I firerm s

(A)
(B)
(C)

(D)

= 1

T AR WA (=9 e fem) (1) §E

(€) — @ (D) — (I
(C) — (D). (D) — I
(©) — dh. O - av
© -av). M-

A R qone (e e ) () e O e v

T TR IO (STEn TE e )

(IV) HEFETe 70

3 fou o feppedi @ w3 a1 =am i

(1)
(2)
(3)
(4

(A)— (D).
(&) — 1V).
(A) — (D).
(A) — (IID).

B) - (IV).
By — (@).

(B) — (IID).
(B) — I0).

(€)= @M. (D) = (II)
(C) — (I, (D) — (I
(€) — dh. (D) — IV)
© —a). @ - D

[Question ID = 1009][Question Description = 109_00_General_19_0CT22_Q09]
1. 1 [Option ID = 4033]
2. 2 [Option ID = 4034]
3. 3 [Option ID = 4035]
4. 4 [Option ID = 4036]



5 ) . .
) Identify the approaches to assessment that require performance in context.

(A) Priming

(B) Portfolios

(C) Think-Pair-Share
(D) Exhibitions

(E)  Token reinforcement

Choose the most appropriate answer from the options given below:

(1) (B) and (D) only
(2)  (A)and (C) only
(3) (C) and (D) only
(4)  (D)and (E) only

e T9A i 3 W59 o6l wew Fifaw foad s 2

(A) e (i)

(B) fawm (TEwiferE)

(C) F-gm-—arEr (Fe-te-aem)
D) el (ufrafar)

(E)  weftwmens waed (7 fEwnin=)

et 7o ferea o 6 | e 30 1 99 e

(1) & (B) 1 (D)
(2)  FEE (A) 37 (C)
(3) ¥ (C) s (D)
(4)  Fae (D) #1(E)

[Question ID = 1010][Question Description = 110_00_General_19_0CT22_Q10]
1. 1 [Option ID = 4037]
2. 2 [Option ID = 4038]
3. 3 [Option ID = 4039]
4. 4 [Option ID = 4040]

6)
The type of research in which the researcher gains familiarity with a phenomenon or to

achieve new insights into it, 1s known as :

(1) Diagnostic research study (2) Exploratory research study

(3) Descriptive research study (4) Hypothesis testing study



11 1 F7 R e wia T w2 S g S 2 sty g A St e FEE) SE 2,

FEAT 2 :
(1) femres oy s (2) = Iy A
(3)  AvfRaE T e (4) TR A SR

[Question ID = 1011][Question Description = 111_00_General_19_0CT22_Q11]
1. 1 [Option ID = 4041]
2. 2 [Option ID = 4042]
3. 3 [Option ID = 4043]
4. 4 [Option ID = 4044]

7)
The procedure of assigning numbers to various degrees of opinion, attitude and other

concepts, 1s called as

(1) Regression (2)  Scahng

(3 Variance (4) Concordance

fereme, safuafa a7 spemoon s o Fafis afgon &1 e fa s i afEn eand

(1)  uv=mgs (foree) (2) WA (EFfem)
(3) e (o) (4)  HETE (FFEE)

[Question ID = 1012][Question Description = 112_00_General_19_0CT22_Q12]
1. 1 [Option ID = 4045]
2. 2 [Option ID = 4046]
3. 3 [Option ID = 4047]
4. 4 [Option ID = 4048]

8 ) : .
) Identify the correct sequence for the technigue of developing measurement tools :

(A) Specification of concept dimensions
(B) Selection of indicators
(C) Coneept development

(D)  Formation of index

Choose the correct answer from the options given below:

(1) (A (B). (C). (D)
(2)  (C). (A). (B). (D)
(3) (B (C), (A), (D)

(4) (D). (A). (C). (B)



qTH = (BerH 7 ) o faira = ) afafad  od s ) vearfag)
(A)  sHEawEN AT # fafaeE (PiathsTe S Faw e

(B) g F1994

(C)  srawmon faa

(D)  HEEHTF F W (FHIE AT )

A1 T famed 1 O & w3 = i

(1) (A). (B). (C), (D)

(2) (C), (&), (B). (D)

(3) (B). (C). (A). (D)

(4) (D). (A). (T). (B)
[Question ID = 1013][Question Description = 113_00_General_19_0CT22_Q13]
1. 1 [Option ID = 4049]
2. 2 [Option ID = 4050]

3. 3 [Option ID = 4051]
4. 4 [Option ID = 4052]

9)
With reference to Likert-tvpe scale, the correct set of options include :
(A) Likert-type scale can be performed without a panel of judges
(B) Likert-type scales are not considered reliable
(C)  Likert type scale takes more time to construct
(D)  Each statment in Likert-type scale 1s miven an empirical test for discriminating ability

(E) Likert-type scale can be used in recpondent-centred studies

Choose the correct answer from the options given below:

(1) (A). (B). (C) only
(2) (B). (C). (D) only
(3) (A). (D). (E) only
(4) (C). (D). (E) only



Torehd WohR & T (% ) O el % el ATy 8 nfie 2

(A)  ToreRd SERR % |9 =1 T8 P s crei-age o e e sn a2
(B)  fored 9o o |19 =0 Tavasa A | s

(C)  Torerd e % |1vR ] w1 ad | e 6 w2

(D)  Torkd war & w1 A geds a5 g s e 11 F fon ok sdias g
(zufifreret 262) Taan =i )

(E)  Torehd wshm & 9ros =0 3l geaedi iz steres (ons= des e d) o e s 21

s faw o ferereddi 3 38 3av o T Hifem

(1) &&= (A), (B). (O)

(2)  F&d (B). (0), D)

(8)  FAe (A), D). (E)

(4) & (C), (D), (E)
[Question ID = 1014][Question Description = 114_00_General_19_0CT22_Q14]
1. 1 [Option ID = 4053]
2. 2 [Option ID = 4054]

3. 3 [Option ID = 4055]
4. 4 [Option ID = 4056]

10) Match List I with List II :

Last T List IT

(A) Hp:p=ug, =100 (I)  Alternate hypothesis is that the population mean is
not equal to 100

B H,:u=up 5 (IT)y Alternative hypothesis is that the pepulation mean is
greater than 100

(C) Hy:pu>pug, (III) Null hypothesis is that the population mean is equal to
the hypothesized mean 100

D) Hy:pu<pm (IV) Alternative hypothesis is that the population mean is
less than 100

Choose the correct answer from the options given below:

(L @—1. @ — @) ¢ — d). O — (@D

2 A1), @ —dh. © - @O @O —dh
3 @—Mm (B - dD. (€ - (IV). (D) — 1D
@  @-dn, ® - @O, (© - d). (@O - dv)



a1 Lo A A= I e Fifam

q= T el I
(A) Hy:p=pg, =100 (T)  Feferss qimres 72 2 & @ s 100 % w21 2
(B) Hy:u=pm (A1) et giepera) a8 2 {6 Hu w100 3912

(C) H,:p>pg, (IID) Frreafia wirern 22 2 B s (amiees) s gier=ras
14 100 % &R 7
(D) H,:u<pg, (IV) Fafore afeper o2 2 B qm gea 1005 #4971

1 fo aru faeped] @ | gm0 3 =19 ifen

(1) (A)-(1D. (B) - IV). (C) — (@D, (D) - @

(2) (A)-IV). (B) — I, (C) —(@. (D) — (I
(3 A-@ (B - @) (C) - av, (D) - {D
4 (A-dm B -O (© - (D -a

[Question ID = 1015][Question Description = 115_00_General_19_0CT22_Q15]
1. 1 [Option ID = 4057]
2. 2 [Option ID = 4058]
3. 3 [Option ID = 4059]
4. 4 [Option ID = 4060]

11)

Organisational communication is in nature.

(1) Obtrusive (2) Contradictory

(3) Non-behavicural {4) Applied
WA T —— usfa e gl
(1) @ (SagHE) @  wEwEEd (FEE)
(3)  H=AEERTNF (FH-Taefywe) (4) IR (ETensE)

[Question ID = 1016][Question Description = 116_00_General_19_0CT22_Q16]
1. 1 [Option ID = 4061]
2. 2 [Option ID = 4062]
3. 3 [Option ID = 4063]
4. 4 [Option ID = 4064]

12)  Development of communication skills among learners involves :

(A)  Vertical flow of information

(B) Restricted expression of views

(C) Logiecal argumentation

(D)  Sharing of doubts

(E) Understanding human psychology

Choose the correct answer from the options given below:
(1) (A). (B). (C) only
(2) (B). (C). (D) only
(3) (C). (D). (E) only
{4) (A), (D), (E) only



forenieda 4 Aol 19T & faem 8 wiEE 2
(A)  HE sl R

(B)  TEm=m ) wiesiem sihusafm

(C) il ae-faane

(D) STERIT T HTE

(E) M4 qAETE F e

74 faw o Fomrel 9 3 #3751 =99 Fife

(1) ¥4 (A), (B). (O)
(2)  FA (B). (€). (D)
(3) A (C), (D). (B)

(4 Fa (A), D), (E)
[Question ID = 1017][Question Description = 117_00_General_19_0CT22_Q17]
1. 1 [Option ID = 4065]
2. 2 [Option ID = 4066]

3. 3 [Option ID = 4067]
4. 4 [Option ID = 4068]

13)
Given below are two statements:

Statement I:  The physical context of commumnication must be tangible.

Statement IT: The temporal context of message deals with the sequence of events.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both Statement I and Statement IT are true.
(2) Both Statement I and Statement IT are false.
(3) Statement I 1s true but Statement II 1= false

(4) Statement I is false but Statement IT 1s true



4 A1 e famamo 3

F9A 1 ; oy ) e Had S EEr A

FUA T HE9 & il Hay B 9easd & S4@y 91 Iechd 7141 2)

TR e & ST d, A e e O 3 ge 39 I 999 fifE)

(1) &wd T &n IT 241 |3 2|
(2) a0 EE A 2
(3)  &yA I9ra 2, “lfeH Faa I 3797 7

(4) g I e 2, ol as [T a2
[Question ID = 1018][Question Description = 118_00_General_19_0CT22_Q18]
1. 1 [Option ID = 4069]
2. 2 [Option ID = 4070]

3. 3 [Option ID = 4071]
4. 4 [Option ID = 4072]

14)
Types of communication distance on a continuum of ethnocentrism in sequence are :

(A)  Indifference
(B)  Avoidance

(C Disparagement
(D)  Equalty

(E) Sensitivity

Choose the correct answer from the options given below:

(1) (B (O (E). D). (A)
(2) (D). (E) A). (B)(C)
(3)  (C), (D). (E). (A). B)
(4) (A, B), (C). (E). (D)



Y W AraTideTzand 1 e e ae gf & gn A

(A) AT (A RE)
(B) gl (sETgE)
(C)  wauH| (fEariem=)
(D)  wHERn (o)

(E)  HeagAsiie (afafiad)

A T e el O 3 wdl 3 1 = i

(1) (B), (C). (E), (D), (A)
(2) (D). (E). (A), (B). (C)
(3) (C). (D). (E). (A), (B)
4 (A). (B), (C). (E). (D)

[Question ID = 1019][Question Description = 119_00_General_19_0CT22_Q19]

1. 1 [Option ID = 4073]
2. 2 [Option ID = 4074]
3. 3 [Option ID = 4075]
4. 4 [Option ID = 4076]

Match List T with List 1T ;

List I {Tvpes of Skills)

{A) Public speaking

(B} Leadership

(C) Selfpresentation

(D) Interviewing

List IT (Characteristics)
(I} To gain information
(I) Confidence
(IIT} Problem-solving

(IV) Represents a credible person

Choose the correct answer from the options given below:

(1 A-OM. @
2) (A)-dD. B
(3) A-av. @
4 (AH-dn, @

(1),

(Iv).

I,

(ITI).

(C) — dIm).
(€) — @.
(C) — .

(C) — aV),

D) — (IV)
D) — (D
(D) — (IID)
D) - @D



g 13 e 9= 1= fuers $ifsm

= T (FeTet & W)

(A)  HE A T

(B) e
(C) e s

(D) HuTE™ (F2T5E)

F1 o v ferred] | |l 399 9 =44 fifen

(1)
(2)
(3)

4)

(A)—(@. (B) — dD.
(A)— D). (B) — V).
(A)—@1V). (B) — @.

&) —an. (B) — (.

(C) — ().
(€) - @.

(C) — D).
(C) = dV).

el 1T (Fersmemd )
(I)y ST 918 31
(D)  wAeRfEsEH
(IIL) o HUH

(IV) v favaw safa # e )

(D) — @)
@) — (1)
(D) — (IID)
D) - D

[Question ID = 1020][Question Description = 120_00_General_19_0CT22_Q20]
1. 1 [Option ID = 4077]
2. 2 [Option ID = 4078]
3. 3 [Option ID = 4079]
4. 4 [Option ID = 4080]

16)

What comes next in the following sequence?

0.25, 2.25. 6.25, 12.25,

e foru o sn O serelt ge e EEf
0.25. 2.25, 6.25. 12.25, ?

(1)
(3)

18.25
16.25

2 1925
(4) 2025

(2) 19325
(4 20.25

[Question ID = 1021][Question Description = 121_00_General_19_0CT22_Q21]
1. 1 [Option ID = 4081]
2. 2 [Option ID = 4082]
3. 3 [Option ID = 4083]
4. 4 [Option ID = 4084]

17)

Eavita's age 1s eight yvears more than thrice the sum of the ages of her two grandsons who
are twins. Nine years later. Kavita's age will be one year more than two times the sum of the
ages of her two grandsons. What was the age of Kavita when her grandsons were born?

(1) 58 years
(3) 65 years

(2) 68 vears
4 28 vears



e 1 39 T 21 A=A T F) 38 F A7 F AH A e g awfaw A oad e, Flea A wm ww dEi
il 30 F AW F FH A uF Ad wiaw 21 Flad o gug =0 30 o 9 R qd 0 #a g a?

(1 58 @ 68

(3 65 4 28@

[Question ID = 1022][Question Description = 122_00_General_19_0CT22_Q22]
1. 1 [Option ID = 4085]
2. 2 [Option ID = 4086]
3. 3 [Option ID = 4087]
4. 4 [Option ID = 4088]

18) The population of a bacteria culture doubles every 2 minutes. How many minutes will it take

for the population to grow from 1 to 10247

(1) 10 2) 14
(3) 18 4 20

Afaeion s i qea 20 2 fude 4 o 1 3) Sl s ) gen 118 1024 21 5 J e e
1 qE AT
(1) 10 (2) 14
(3) 18 (4) 20
[Question ID = 1023][Question Description = 123_00_General_19_0CT22_Q23]
1. 1 [Option ID = 4089]
2. 2 [Option ID = 4090]

3. 3 [Option ID = 4091]
4. 4 [Option ID = 4092]

19)

Given below are two statements:
StatementI: A fraction can be reduced to its lowest form by dividing the numerator and
denominator with a common factor.

Statement II: Two fractions can be compared by comparing their numerators if their
denominators are equal.

In the lLght of the above statements, choose the correct answer from the options given
below:

(L Both Statement I and Statement II are true.
(2) Both Statement I and Statement IT are false.
(3) Statement [ is true but Statement 1T 1s false

(4) Statement I 1is false but Statement IT is true



4 @1 o 2| v sifuEaa (Assertion A) % w0 1 ffiEd 2 7 250 395 F10 (Reason R) %74

FoA1: Tl = =, #9 8 =EE B o a2 Al s a9 2 B sEvEds | ae g
T =)

Fod IL:  Afedl =t 3 e s 2, o 33 o i qern = g o 4H) fa=i 4 e & e 21

IR A F st H, J v o fee 0 8 ad 3= w1 =99 il

(1) FoH [ 3 A | 8
(2) Fe T30 IS 3/ &
(3) =9 Tued 2, difes o I s 2

(4) U [ 2, effee ouq 1o 2

[Question ID = 1024][Question Description = 124_00_General_19_0CT22_Q24]
1. 1 [Option ID = 4093]
2. 2 [Option ID = 4094]
3. 3 [Option ID = 4095]
4. 4 [Option ID = 4096]

20) )
Price of a mobile is first increased by 20% and later decreased by 25%. What is the net
percentage change in final price of the mobile?

(1) 10% (2) 18%
(3) 20% (4) 12%

wH HIEATEA 1 3 9eel 20% AT Sl 8 W (F 25% HErEn Sdl 2 2iagel # si{on @™ 2 Fe qidvi
ufradd a0 27

1)  10% 2 18%
(3)  20% 4 12%

[Question ID = 1025][Question Description = 125_00_General_19_0CT22_Q25]
1. 1 [Option ID = 4097]
2. 2 [Option ID = 4098]
3. 3 [Option ID = 4099]
4. 4 [Option ID = 4100]

21)  Given below are two statements:

Assertion A:  There are certain psychological conditions under which inference takes
‘place.

Reason R : Absence of pogitive knowledge and will fo infer itz presence or absence are
pre-requisites for inference to be drawn.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation of A
(3) A is true but R 1s false

(4) A 1= false but R 1s true



1 71 %9 fau i 81 v AfaEya (Assertion A) F ¥ H fafiEa 2 41 230 295 %17 (Reason R) & &9 H

AlgFa A -

FER:

Fferrd g aa e feerfera 21l 2 Tormer srmia e farer = 2

HFAHF FH 1 HuE s g il s wefEfy e e SEes o= Ee

FAE &1 zeafa & fere sfam 21

IR F94 & AT °, 94 fFu e Eaen O 4 58 390 & = b

(1
(2)
(3
€3]

A 3 REH w71 & 9 R, A=l o9 = 2)

A 31 REHIHE] 2 31 R, A 1 5 597 34 21
AwFE 2 elfFA R 598 39 21

AHE 7 2 A R A 7

[Question ID = 1026][Question Description = 126_00_General_19_0CT22_Q26]
1. 1 [Option ID = 4101]
2. 2 [Option ID = 4102]
3. 3 [Option ID = 4103]
4. 4 [Option ID = 4104]

22)

Match List T with List IT :

(A)

(B)

(©)

(D)

ListT
Fallacy that occurs due to appeal to non-
rational methods of intimidation

Fallacy that occurs when an argument

makes an appeal to the character of the

person

Fallacy that occurs when an argument is
in the form of emotional "appeal to the
zallery"

Fallacy that accurs when a general rule 1s
apphed to a ease 1n which the rule 1s
inapphecable

List IT
(I) Argumentum ad Hominem
(IT) Accident Fallacy

(ITI) Argumentum ad Populum

(IV) Argumentum ad Baculum (force)

Cheose the correct answer from the options given below:

(1
@)
(3)
(4)

(A)—(D, (B) — ). (©) — D), @) - (IV)
(A —{D. B) - dh (©) - @M. @D — dV)
A -dn. @ - av. © - @. @ — D
(A)—-1V). (B) - @. (C) — (D, (D) - ID



T 15 e 1= I faems o

T e I
(A) sfgam & w-ats falbie & osefe w9 % @ srduey v A
0] 2H 9T feh 2
(B) =t % = F gfaw o AW A a% F (D) e am (e o)
(C) T HTT= 1 Hifed - 1 9Ea® Joe @ () S g (A= T35 1)

(D) = vF e g v agre F e ougw ow (IV) g9 A (smEdes v S9geE)

A1 fau o faei | |2 37w @1 =4 Fifam .

(1) (A-D. B - dh. (©) - dID. D) — aIV)

(2) (A)—{In, @ —an, © —@O, @O —av)

(3) Ay—-1ID. @B — dV). (C) — (@. (D) — (II)

4 @A-aV). ® -0 (© - Jm, D — d)
[Question ID = 1027][Question Description = 127_00_General_19_0CT22_Q27]
1. 1 [Option ID = 4105]
2. 2 [Option ID = 4106]

3. 3 [Option ID = 4107]
4. 4 [Option ID = 4108]

23) ) )
Which of the following is not a fallacy of Ambiguity?
(1)  Egquvocation (2)  Amphiboly
(3) Accent (4) Accident

Fraferfam 4 4 A fasderan @ aahgm (e sie ufmmfe ) a8 27

(1) @l (sFEETERT) 2 e
(3) F=EE-gAE (4  @FEm (vfEEe)

[Question ID = 1028][Question Description = 128_00_General_19_0CT22_Q28]
1. 1 [Option ID = 4109]
2. 2 [Option ID = 4110]
3. 3 [Option ID = 4111]
4. 4 [Option ID = 4112]



24 . . : :
) Gaven below are two statements: One 1s labeled as Assertion A and the other is labeled as

Reason R.

Assertion A: A propername has only denotation but no connotation.

Eeason R : Intension refers to set of adjectives; Extension refers to set of substantives.

In the light of the above statements, choose the correct answer from the options given
helow:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation of A
(3) A s true but R is false

(4)  Ais false but R is true

19 21 %o e #) v #fiFad (Assertion A) % #1 1 ferfiad 2 1 2871 39% #1001 (Reason R) %9 1 :

Afymee A - safFETEs: aE F dae aread (TeRR) 26 2, S 30 1 (29R) 38 714 21

FOIR: T R (32E) # OnH UETEE B U 42 2] 5 9EEY (THHEIE) B BRd SegarsE
(TeEi=g) = 3

IR FEH ATl 4, J1 fan e fased 0 8 52 s e i)

(1) AR A6 E A R, A9 wd = R

(2) A3 R=EE A9 2 3 R, A oF =mEn ad 2

(3 AwdzailFREG I A

(4  A#HAFE 2 A RAA )
[Question ID = 1029][Question Description = 129_00_General_19_0CT22_Q29]
1. 1 [Option ID = 4113]
2. 2 [Option ID = 4114]

3. 3 [Option ID = 4115]
4. 4 [Option ID = 4116]

25)
If ‘All college professors are entertaining lecturers’ i1s True in a square of opposition which of

the following can be inferred correctly from the given codes.

(A)  ‘No college professors are entertaining lecturers’ is false
(B)  ‘Some college professors are not entertaining lecturers’ is true
(C) ‘Some college professors are entertaiming lecturers’ is true

(D) ‘Some colleze professors are entertaining lecturers’ is false

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) {B) and (C) only
{3) (C) and (D) only

(4) (A) and (C) only



5

Iie “wufl FerE T TEEEF AT & g9 & A et 3 8 Fe-ar e o 5 3 wd 2

(A)  HIE T AR AR ST A B - A R
(B) ¥ el T YIS ST A2 2 | - Hed
(C) ' el W U AT B - Hel 2

(D) ' Fierd A AR AR & - 56 2

A1 v o faamd) 4 8 =58 39 9= Fif

(1) e (A) 31 (B)
(2) =9 (B) 31 (C)
(8)  FAA (C) 3i (D)

(4)  FEE (A) 30 (C)

[Question ID = 1030][Question Description = 130_00_General_19_0CT22_Q30]

1. 1 [Option ID = 4117]
2. 2 [Option ID = 4118]
3. 3 [Option ID = 4119]
4. 4 [Option ID = 4120]

26 4 : . 4 ) ” S P >
) Aman adds a video file to his social networking page. Which one of these describes a video
that has been watched by a lot of people over a short period of time?
(1)  Dagital (2) Tagged
(3) Viral {4) Open source
T A FEIAF AT 0F A v A=A TS ASH 2 T TF SEAatg § aE S ge A T 3,
HiT=41 F1 ARG § 4 [ gAT v =1 51 "% 27

=

(1) Tefoea (2) &=
(3) e (4) s ad

[Question ID = 1031][Question Description = 131_00_General_19_0CT22_Q31]

1. 1 [Option ID = 4121]
2. 2 [Option ID = 4122]
3. 3 [Option ID = 4123]
4. 4 [Option ID = 4124]



27
) Identify the correct order of the following major technalogical changes in computers based on

fourth to first generation of computers.

(A) Microprocessors
(B) Vaccum Tubes

(C)  Integrated Circuits
(D) Transistors

Choose the correct answer from the options given below:

(1 (). (A). D). B
(2) (A.0).B). D)
(3) (A (. (D). (B)
(4 @M). B). A). ()

FO % A9 B TE A F SR W FE § w9 wgE i o o ad wm ) veEe fis)

(A) TSR

(B)  FwH s
(€C) F=Er=ufi
(D)  zif

4 feu o faedi © 8 |98 3 @ = it

(1) (0. (A). (D). (B)
(2) (A). (). (B). (D)
(3) (A), (C), (D). (B)

4 (D) B A).©
[Question ID = 1032][Question Description = 132_00_General_19_0CT22_Q32]
1. 1 [Option ID = 4125]
2. 2 [Option ID = 4126]

3. 3 [Option ID = 4127]
4. 4 [Option ID = 4128]

28) Given below are two statements about Electronic Mail (e-mail) ;

Statement I:  You can create folders fo store and organise yvour emails.

Statement IT: You can add attachments of any file size to an email.

In the light of the above statements. choose the correct answer from the options given

below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement IT are falze.
3 Statement I is true but Statement 11 1s false

(4 Statement I 1s false but Statement I 1s true



H 21 e faw e &) gereiiors Wel (399) = a1 | A )
Fud1 ;AN A7 oA Aafed (2R) q91 Jfa (SnEE) #509 % o wet # fai ae e £

FUATL: 3 Fpee oft @i w15 o 3¢ %1 2 49 4 1S 9 o

IR A & e 8, 1 feu e faed § | ad 3 99 i)

(1) #¥H I3 OZHIEE 2
(2)  FUg I3 IIEH] 9947
(8) T IUAE T, WA F99 11 396 2

(4  weE IageE e, AfE Fua I as #)

[Question ID = 1033][Question Description = 133_00_General_19_0CT22_Q33]
1. 1 [Option ID = 4129]
2. 2 [Option ID = 4130]
3. 3 [Option ID = 4131]
4. 4 [Option ID = 4132]

29)
Which of the following file format contains exclusively the sound file format appropriate for
web distribution?

(A) WMV
(B) WAV
(C) AVI
(D) MOV
(E)y MP3

Choose the correct answer from the options given below:

(L) (B) and (C) only
{2) (B) and (E) only
(3) (A) and (D) only
(4) (A) and (E) only



fr=fefiam 0 8 g wiga sz 4 94 fediegem & v s verie 9 4 |13 Figel e Sl 27

(4)

(B)

(C)

(D)

(E)

Zaey vy A (WMV)
sy U dl (WAV)

u i 37 (AVD)
g = F (MOV)

ug 1 3 (MP3)

e feu o fare 4 5 | 39 s e Fife

(1)
(2)
(3

(4)

Fde (B) 3i11 (C)
Fee (B) 31 (E)
F (A) 30 (D)

F (A) 31 (E)

[Question ID = 1034][Question Description = 134_00_General_19_0CT22_Q34]
1. 1 [Option ID = 4133]
2. 2 [Option ID = 4134]
3. 3 [Option ID = 4135]
4. 4 [Option ID = 4136]

30) Match List T with List IT :

List IT (Deseription)

The action of illegally installing malicious code which
redirects a person to a fradulent wehsite with the
purpoze of obtaining that person's bank details

The action of sending text messages to fraudulently
obtain another person's bank details

(III) The action of sending emails to fraudulently obtain

List I (Technical Term)
(A) Phishing @
(B) Pharming (IT)
(C) Spam
(D) Smishing

another person's bank details

(IV) Unsolicited bulk emails

Choose the correct anawer from the options given below:

(1)
(2)
(3)
(4)

(A)— (D),

(A)—(IV),
(A)— (L.
(A) — (IID).

(B)
(B)
(B)
(B)

— (1LI).
— (I,
—(D.
— (.

(C) = @V). (@O — dDh
(C) — (IID, (D) — dD
(€) — (@V). (D) — D
(€) — 1. @O — aIv)



g T3 &g 4= 1L faerm i ;

T 1 (7T 7m) =1 11 (397)
(A) T 1) 39 =1 7 fagapl == =1 v w= Fi e G oo
=fed o S TSN BT WA H o SEvd W 3 SEE

(B) T (I1) =921 4 5= =412d & 5% (9200 TS 594 % (o0 29 5=
(C) =1 (II) =927 § 377 =t & 5% {5 o 549 % T < fet 9o
(D) feafsm (IV) SFT=a e 3

4= fom e faeed |8 82 3 =1 = il

(1) Ay —-@O. (B — D, (€ — dv), (D) — {dn

(2) (Ay—(IV). (B) — @D. (C) — (IID. (D) — (IO

(3) (&) — (1D, (B) — (M. (C)— {IV). (D) — {II)

(4) (Ay—(IID, (B) — (IO, (C) — D), (D) — {dIw

[Question ID = 1035][Question Description = 135_00_General_19_0CT22_Q35]
1. 1 [Option ID = 4137]
2. 2 [Option ID = 4138]

3. 3 [Option ID = 4139]
4. 4 [Option ID = 4140]

31)
1 mm layer of pure czone gas around earth at normal temperature and pressure is
equivalent to:
(1) 1 Dobs=on Unit (DU) (2) 10DU
(3) 100 DU (4) 0.1 DU
T A AT A W YA F 9 IS A T # L mm e F HATA 2
(1)  1z=fasa gt (DU) (2) 10DU
(3) 100 DU (4) 0.1DU

[Question ID = 1036][Question Description = 136_00_General_19_0CT22_Q36]
1. 1 [Option ID = 4141]
2. 2 [Option ID = 4142]
3. 3 [Option ID = 4143]
4. 4 [Option ID = 4144]



32)  Mateh List T with List IT :

Tist I List IT
(A) Mist (I}  Aerosols consisting of solid particles
(B) Smoke (IT) Aerosols produced by condensation of hot vapours of metals
(C) Fume (I} Photochemical products of VOCs and NOx
(D) Smog (IV) Aerosols consisting of liquid droplets

Choose the correct answer from the options given below:

(L @-av. ® -@O. (© -dd @O - dm
(2) (A — (D)., (B) — dD. (€) — {dV). D) — (@)
(3) (A=), (B) —Idv). (€) —dm. @) — @D
4 (A —1IV), (B) — d. (€ - @ @O — dIh

H= T % a1 10 o ferm <fifam
g I el I
@ 9 (=) (D o o 3w 2 #)
B) o () (D) wirie fomper Fwfor sy o md v < @ 3 g 2
(C) 4 (FM) (IIT) VOCS a4 NOx % Wmi- a4 3773
(D) *E-FTeA (F57) (IV) vipsTe foreid avet Fame 16 2

1= fem o el & |l 397 =1 =23 i

(1) A-a), B -@O (©) - D, (D) — )
(2) (A)—h., B — ), ©) - av), D) — @
(3) (A)— (D). (By — (OIV). (C) — (III). (D) — (D)
(4 (A)—1IV), By — (ID). (C)—(@. (D) — (1)

[Question ID = 1037][Question Description = 137_00_General_19_0CT22_Q37]
1. 1 [Option ID = 4145]
2. 2 [Option ID = 4146]
3. 3 [Option ID = 4147]
4. 4 [Option ID = 4148]



33)

Given below are two statements: One is labeled as Acsertion A and the other is labeled as
Reaszon R.

Assertion A:  Bottom ash generated into the boilers of the thermal power plants are major

cause of nearby rver pollution.

Reason R : The hotwater generated from thermal power plants are discharged into the

nearby rivers.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both A and R are true and R 1s the correct explanation of A

{(2) Both A and R are true but R 13 NOT the correct explanation of A

(3) Ais true but R 12 false

(4) A is false but R is true

r 21 e faumu 3)

FOT A TREl A TagE @9 (9Ue 9T wE) F ST § 309 A6 0 (WiEd 1) el ) w

TEET W g HE FA 7

FEOMR: AW Taagd 59 9, 309 T8 T Haadl A 0 a5 a2

TR FeA o AT A, 319 faw e fased 0 4 a8 g = fifam

(1)
(2)
(3)

4

A 300 R & wea 7 3 R, A 1 Wt sawen 2
A 3iw R 2 #ed 2 offerd R, A o) 51#f] savean 7 2
A", dfFa R s 2

A3, dABA R AR

[Question ID = 1038][Question Description = 138_00_General_19_0CT22_Q38]
1. 1 [Option ID = 4149]
2. 2 [Option ID = 4150]
3. 3 [Option ID = 4151]
4. 4 [Option ID = 4152]



34)
Given below are two statements:

Statement I :  Chronie toxicity caused due to hazardous wastes is not difficult to determine.

Statement IT: Chronic effects may be seen immediately after the exposure.

In the light of the above statements, choose the most appropriate answer from the options
given
below:

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement IT are incorrect
{3) Statement I 1s correct but Statement IT is Incorrect

(4) Statement I is incorrect but Statement II 1s correct

= 21 3% fau o 2

FUA1 : AT F9 F FE0 309 FEAE GOEET F G9 FE] Sied 925 A

FATL:  Ferelers waa &1 3591 % q7d a1 26 oI A 2|

Ik F9 & e |, A oo nw e § 3 aes 3wes 39w 999 Fifen

(1) @ I I EET a8 2
(2) &9 I 3 I2HI e 21
(3)  FeE IHE 2, A F9a e 7
(4) e DTed 2, i #9a T #

[Question ID = 1039][Question Description = 139_00_General_19_0CT22_Q39]
1. 1 [Option ID = 4153]
2. 2 [Option ID = 4154]
3. 3 [Option ID = 4155]
4. 4 [Option ID = 4156]



35)

What 1= the correct sequence of preparing vermi-compost?

(A)
(B)
(C)
(D)
(E)

Introduction of culture of worms in to the pit.

Lining up with straw or dried grass and leaves

Water the pit once or twice a week

Construction of pit of half square meter area and one meter deep

Putting into pit the organic wastes as and when generated

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(D). (E). (B). (A). (C)
(4), (C). (D). (E). (B)
(E). (A). (B). (O). (D)
(D). (B). (E). (A). ()

i e e (afd ez & Fuiv 1 ad sggn e

(A)

(B)

(C)

D)

(E)

3G H FEA] (FE1) F HAE 7 I FH] F7|

T AT P A S AT F EE S

Ao U UF =W 91 5 G0 TS § I o

wE HT S A T (At 952) e A 34 Tes ° s

it 2o am feepeddi @ & ol 3 =0 = fifau

(1)
(2)
(3)
(4)

(D). (E). (B). (A). (©)
(A). (C). (D), (E). (B)
(E). (A), (B). (C). (D)
(D). (B). (E). (A). ()

[Question ID = 1040][Question Description = 140_00_General_19_0CT22_Q40]
1. 1 [Option ID = 4157]
2. 2 [Option ID = 4158]
3. 3 [Option ID = 4159]
4. 4 [Option ID = 4160]



36)

The reforms initiated under the Rashirya Uchchattar Shiksha Abhivaan (RUSA) aim at:

(A)  Push for greater accountability and autonomy of state institutions

(B) Improving the guality of education and infrastructure

(C) Formulation of stringent regulations to curb commercialization of higher education
(D) Increase iIn GER upto 50 percent

(E) Efficient monitoring and eontinuous feedback mechanism

Choose the correct answer from the options given below:

(1) (A). (B) and (C) only
(2)  (A)and (B) only

(3) (A). (B). (C) and (D) only
(4)  (B).(C), (D) and (E) only

e T e firm (3702 va ) & sreria fad o a2 @ Ige 2

(A)
(B)
(©)
(D)

(E)
Eie]
(1)
(2)

{(3)

(4)

1T Heenad o) sferen fonerd aen = o aet 291

Fra den syeErT o qurEe 4 R FE)

=== for = arsg R T e e e e
13 AW 1 g 50 9l

FREH fr aen we wfagfe 6

fizn 1o el § 4wl 3w o1 = il

FAd (A), (B) 311 (C)
Fad (A) 31 (B)
FAd (A). (B). (C) 3 (D)

Fad (B). (C). (D) 3 (E)

[Question ID = 1041][Question Description = 141_00_General_19_0CT22_Q41]
1. 1 [Option ID = 4161]
2. 2 [Option ID = 4162]
3. 3 [Option ID = 4163]
4. 4 [Option ID = 4164]

37)

According to National Education Policy (2020), National Higher Education Regulatory
Council will be the single point regulator for all disciplines except

(1) Teacher Education

{2} Medical and Legal education

(3)  Agricultural sciences

4) Management



T e Hitg (2020) F wEw 3= e e gt FeiEtes 8 9 s see ad B 5

(1)  Tos Tom

2y Tafwedm a7 Tt fe
(3)  F fame

4 T

[Question ID = 1042][Question Description = 142_00_General_19_0CT22_Q42]
1. 1 [Option ID = 4165]
2. 2 [Option ID = 4166]
3. 3 [Option ID = 4167]
4. 4 [Option ID = 4168]

38)

Identify the correct sequence in decreasing order in terms of number of universitiez in the

State

(A) Gujarat

(B) Uttar Pradesh
(C) Rajasthan

(i Karnataka

(E) Madhyva Pradesh

Choose the correct answer from the options given below:

(1)
()
(3)
(4)

(A). (B). (C). (D). (E)
(B). (C). (D). (A). (E)
(C). (B). (D). (A). (E)
(C). (B). (A). (D). (E)

1= ° favafaearaa f) den & g9 d 59 33908 %9 i veaE Fifs

(A)
(B)
(C)
(D)
(E)

e
ECRREE]
RECIE
g Hem]

41 T o fasedi 0 3 a1 3@ @ =99 ife

1)
(2)
(3)
(4)

(A). (B). (C). (D). (E)
(B). (C), (D), (A), (E)
(C). (B). (D). (A). (E)
(C), (B), (A). (D). (E)

[Question ID = 1043][Question Description = 143_00_General_19_0CT22_Q43]
1. 1 [Option ID = 4169]
2. 2 [Option ID = 4170]
3. 3 [Option ID = 4171]
4. 4 [Option ID = 4172]



[Question ID = 1044][Question Description = 144_00_General_19_0CT22_Q44]
1 [Option ID = 4173]
2 [Option ID = 4174]
3 [Option ID = 4175]
4 [Option ID = 4176]

AW N =

39)

Match List T with List 1T :
ListI ListIT
(A) National Education Policy Iy 1993
(B) National Poliey on Education (I 2009
{€) National Knowledee Commission (III) 1986
(D) Learning without burden Report of (IV) 2020

the National Advisory Committee

Choose the correct answer from the options given below:

(1) (A)-av). (B) — @, (€ — L. D) — @

2 @-@V). B - @) ©) -O. O — 1D

(3 @A-Iv) (B —dn. («© —dd. @O —@d

4 @A-@). B -0 (© -0 O - {Jm
= 1w = 1 faem #ifsm

i 1 A1 1T
(A) i fren i (A3 vsEE i) @ 1993
(B)  Toren sqmel oy Hife (dumel Wi s usdeE) (D) 2009
(C) T 3T s (III) 1986
(D) Ty weresn afufa 6 vm fada stfomg foord IV) 2020

At o o fepsped 4wl a2 1 1 e

(1) @A-0av). @B -
(2  A-av). @ -
(3  (A)-

4  (A-=0dV)

(I. (C) — dn. M — @O
I, ) —@. D - ({D

Iv). (B) — D, (C) - dn, M) — @

(B) —

@ (€ -dh. @) — {@h



40)
Given below are two statements: One i labeled as Assertion A and the other 1= labeled as

Reason R.

Assertion A:  Umniversities play a kev role in building a symbiotic relationship between the

nation. state and society

Reason R : Universities are centres for creation and transmission of knowledge

In the light of the above statements, chooze the correct answer from the options given
below:

(1) Both A and R are correct and R is the correct explanation of A
2) Both A and R are correct but R 1= NOT the correct explanation of A
3 A i3 correct but R iz not correct

(4) A 1s not correct but R is correct

414 21 e fau o B ) vk AiaA (Assertion A) % ®1 1 fafiad 2 91 201 39F FF0 (Reason R) F &7 1

AFAT A ;. ETETaeaEE WL, T G491 TAT & S Fesiie gud & [HE A T g [ee 2

Fr R: (ol T F g9 A9 T w5 A

FTTF & & e 8, oo e 8 9 ad 3 e | i

(1)  Asil RaH & 2 5 R, A 78 smen 2
(2) Al RaH A E 3t R, A6 w =men 6 2
(3)  A#A el REH A4 8l

4 A=A R EAFE REA A

[Question ID = 1045][Question Description = 145_00_General_19_0CT22_Q45]
1. 1 [Option ID = 4177]
2. 2 [Option ID = 4178]
3. 3 [Option ID = 4179]
4. 4 [Option ID = 4180]
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1)
Read the passage carefully and answer the questions that follow (Q, 46-30) :

Public action. in a broad sense. can play a central role In economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economie literature as action by the government. not as action by the
public 1tself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound sigmificance to the successes and fallures of economic
and social change In general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural infrastructure. The vigilance and involvement of the
public can be quite crucial not only in ensuring an adequate expansion of these essential
services but also Im momtoring their funetioning. Indeed the actual reach and effective
quality of the services that are meant to be. in principle available often depends a great deal
on the information that the local community gathers and the extent to which it ean get its
voice heard. The shirking and absenteeism of village teachers for example are much more
easily observed by the wvillagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a local
pressure in that direction. better than the directions from the above.

TEITE | AN G q91 3 412 90 uH] (46-50) &1 3 5

w94 H S R AN e § A gEfE w0 W Sl 9% SEiaE SEE TP 4 #nr
gEE e w2 T seE A A @iiEeg § A T B A -a0 S 5 A T
91, 7 7 =99 =991 oFT =0 T TR % =0 F TR A 2| 9% =nen THE =9 0 9TE 7 99l s
T 7O oA grEn i G i fom F et § ww e F ovvm ¥ g | A 2 o aneas w6
TFA | TOFN F TEAIERE T F 95E] o1 § G0FET i A9 F TG99 F4 § =0 aEaaEE @em w51
T HEEAl 7 HEAT 7 57 WRAEEE B ° AEAEE WA a0 T s, e SRR, T 1A,
Fae T SEIEF TG F T T F G TS FE § GeF 39 6 F A 3 9w gee 7
THAT 7| TEEE AUiER TeT 1 s 5 9 WO e Wgi #9 § w#H e 9% T 90
T WA I TE AR A1 TEH S g4 9E, 79 599 § 3ahl fEa) il | W 6 w2 sy
E T foe & FE g A W a9 = § Sean A R e ) e i e |
= T G A B G A 2 ST A AEeaEE | Sh SEaE A9 THE A g A

. "=

HEA £ THE @O, EoAn, S o4 99 g | SEAeE SEvEETE 6O 6w

TEEAYE S S O 2 916 59 1590 § S | 81, "0k T4EE S0 T 5ad 7|

What can bring the social opportunities within the reach of the people?

(1) The government directives (2) Economie literature
{(3)  Actions of the pubhec (4) Success of social change

A T A STHT A T w2

(1) =7 & e (2)  HAdITRE Hra AT
(3) | * FH (4) =t giradd i aEer

[Question ID = 1046][Question Description = 146_00_General_19_0CT22_Q46]
1. 1 [Option ID = 4181]
2. 2 [Option ID = 4182]



3. 3 [Option ID = 4183]
4. 4 [Option ID = 4184]

2)

Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economic literature as action by the government. not as action by the
public itself. This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of publc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care, child immunisation. primary educatien. social security,
environmental protection and rural infrastructure. The vigilance and involvement of the
public ¢an be quite crucial not only in ensuring an adequate expansion of these essential
services but also In monitoring their functioming. Indeed the actual reach and effective
quality of the services that are meant to be, In principle available often depends a great deal
on the information that the local community zathers and the extent to which it ecan get its
volce heard. The shirking and absenteeism of village teachers for example are much more
easily observed by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there is a loeal
pressure in that direction. hetter than the directions from the above.

TRITS | A IEE T2 A1 30 712 1400 0= (46-50) 1 I 5

A ¥4 § S #A AdE 9 1 a9 9nte 59 9 SF aF SmiaE SEE A § o
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HATTF iane i S%e] a9 EEe 89 FeE = O T e 5 SAA 6 B w95 A

TFAl £| FOEN F SENEE FE1 F GgEl oA § 90RE 1 10 # T90Ea #6045 S5 g5EaEE @9y w5
F FEeTY 7 HHEAT 2| 5 TENEEE F G ST S 9 S SEd, W 2R, TEE fE,
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T TEA ] TS TR a9 I 9 G40 99, 39 "9 7 5w a9 1 d@m w2 s
i B ol 2 e O A S A Fe 3 Sates A A ElE s oo e i gee |
= T G AEE T A S A = SE TYEE A 3 5696 JEaE SEE T9El 1 4 5 |
e e e e s R e s v e e o e S e Dz el e e e e e 2
TaCAvIE WA 1 AFAT 7 915 59 1590 § 59§ T8, Wi T4 4 5 55 2

Positive functions of the government can be supported by :

(1)  Public influence on policy-decisions

(2) Focussing on education and social security
(3) Centralised power structure

(4) Top-down. one way general instructions
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[Question ID = 1047][Question Description = 147_00_General_19_0CT22_Q47]
1. 1 [Option ID = 4185]
2. 2 [Option ID = 4186]
3. 3 [Option ID = 4187]
4. 4 [Option ID = 4188]

3)

Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
1s characterised in the economic hiterature as action by the government. not as action by the
public itself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of sovernmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural mmfrastructure. The vigilance and involvement of the
public ¢an be quite crucial not only in ensuring an adequate expansion of theze essential
services but also In monitoring their functioning. Indeed the actual reach and effective
quality of the services that are meant to be, In principle available often depends a great deal
on the information that the local community zathers and the extent to which it can get its
voice heard. The shirking and ahzenteeism of village teachers for example are much more
easily observed by the wvillagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a loeal
pressure in that direction. better than the directions from the above.
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Adequate monitoring of public services is possible through :

(1) Expansion of essential services (2) Improvement in quality of services

(3) Increasing social inclusivity (4) Effective public activism

At dEe ) vty e e g e 27
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[Question ID = 1048][Question Description = 148_00_General_19_0CT22_Q48]
1 [Option ID = 4189]
2 [Option ID = 4190]
3 [Option ID = 4191]
4 [Option ID = 4192]
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4)

Read the passage carefully and answer the questions that follow (Q, 46-30) :

Public action. in a broad sense. can play a central role In economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economie literature as action by the government. not as action by the
public 1tself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound sigmificance to the successes and fallures of economic
and social change In general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural infrastructure. The vigilance and involvement of the
public can be quite crucial not only in ensuring an adequate expansion of these essential
services but also Im momtoring their funetioning. Indeed the actual reach and effective
quality of the services that are meant to be. in principle available often depends a great deal
on the information that the local community gathers and the extent to which it ean get its
voice heard. The shirking and absenteeism of village teachers for example are much more
easily observed by the wvillagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a local
pressure in that direction. better than the directions from the above.
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The effective gquality of servicés depends upon malang :

(1) Stricter rules for implementation
(2) Local community involved

(3) Redressal of grievances

(4) Strong government vigilance
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[Question ID = 1049][Question Description = 149_00_General_19_0CT22_Q49]
1. 1 [Option ID = 4193]
2. 2 [Option ID = 4194]
3. 3 [Option ID = 4195]
4. 4 [Option ID = 4196]

5)

Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
1s characterised in the economic hiterature as action by the government. not as action by the
public itself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of sovernmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural mmfrastructure. The vigilance and involvement of the
public ¢an be quite crucial not only in ensuring an adequate expansion of theze essential
services but also In monitoring their functioning. Indeed the actual reach and effective
quality of the services that are meant to be, In principle available often depends a great deal
on the information that the local community zathers and the extent to which it can get its
voice heard. The shirking and ahzenteeism of village teachers for example are much more
easily observed by the wvillagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a loeal
pressure in that direction. better than the directions from the above.
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What does the passage advocate to make services sensitive to public needs?
(1) Pressure by beneficiaries
(2) Information gathering
(3) Government monitoring
(4 Checking absenteeism among public employees
TGATS] BT STEVEETI & Ui G = Gaga et 5919 & foro e fearad saam 27
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[Question ID = 1050][Question Description = 150_00_General_19_0CT22_Q50]
1. 1 [Option ID = 4197]
2. 2 [Option ID = 4198]

3. 3 [Option ID = 4199]
4. 4 [Option ID = 4200]




